KOMPLEKSIANALYYSI 1
Harjoitus 1, kevat 2006

1. Osoita, ettd z1(z2 + 23) = 2122 + 2123 aina, kun z1, 29, 23 € C.

2. Osoita, etta kompleksiluvuille z; ja zo patee z120 =0 21 =0
tai z9 = 0.

3. Laske
a)i*, kun k=0,1,2,--- .
b) i7% kun k=0,1,2,---

4. Maaraa Rez ja Imz, kun

4+ 27 1

a) 2= (2+30)(-3+2),  b)z=: il — Qz=(+0) 57
5. Osoita, ettd z123 = 21 22 aina, kun z1, 20 € Q.
6. Ratkaise z yhtalosta

a) (3+4i)z=1-2i,

b) iz +27=3—i,

c) 22 = =5+ 12i.
7. Osoita, ettd |z1 — 29| = |1 — Z122|, kun 21,29 € C ja |z1| = 1 tai

‘22| = 1.



